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PHEI A8 0 V= 24. 8
WElA—7 +w V= 929. 1
JESENE
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2.5=W<4.0m V= 0.0
4.0m=W V= 318.2
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(5 EAH) m3 A 1= = 702.5
W<2.5m V= 11. 1
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R _ R
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Wi<l.0m V= 182.4
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TR T) V= 7025 m3 702.5%0.0+0.0 = 702.
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BE - AEktE V= 0.0
T+ (AL V= 0.0
@ ELNET
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PR A V= 858. 5
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& 2l gl il #H & R v .
(L~L3) (L~ 4) (L~L5) A % & 1
hEA T TR AT m2 160
BEEL%F R T Bz 7 U — k (8) 18-8-40BB t=10cm m2 150
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o T OB G ROE 1. 0AHY

4 N H) B 7\ ' =
Fili A T
Fl--IR A BREET R E LD = 158.5 159 m2
(IR N
Ptz 7 U — bk (8)
a7 Y—F (18-8-40BB t=10cm)
1/2% (0. 50+2. 02) X 1. 70 = 2. 14
1/2X (1. 47+2. 00) X 1. 90 = 3.30
2.00X2.10 = 4. 20
2. 00 20. 00 = 40.00
2.00X11. 00 = 22.00
1/2X (2. 00+1. 60) X 0. 50 = 0. 90
1. 60X 5. 80 = 9.28
1/2% (1. 60+0. 50) X 0. 70 = 0.74
0.50%2. 00 = 1.00
1/2% (0. 50+2. 00) X 5. 00 = 6. 25
2.00X2.00 = 4. 00
2.00X 13. 00 = 26.00
2.00X12. 80 = 25.60
1/2X (2. 00+1. 00) X 1. 50 = 2.25
3t = 147.66 147.7  m2
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o T % =
&l A H & HArl %% & fii
T AT IV R
e T SE - RN AL
FERERIET A 2 (13)
*F & t=5cm m2 9
KA (M=-30)
e kA t=10cm m2 9
BEEAR A (RC-40)
ANEL S t=14cm m2 9
SRS
BRI E T 2 2 (13)
*F & t=3cm m2 140
KA (M=-30)
e t=12cm m2 140
BEUNARA (RC-40)
T JE AR t=12cm m2 140
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&t B 2V
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il

{hclide

& B (FAESERET A2 13)  t=5cm
XoE - T NEHEE-3
8.6

R CRigfea M-30)  t=10cm
XoE - T NEHEE-3

T (FAEYEARA RC-40)  t=14cm
XoE - T NEHEE-3

%+ & (FAESRET 22 13)  t=3cm
ARt 4
6. 4+6. 4+6. 1+6. 4+114. 5

bz CRigAfea M-30)  t=12cm
g
6. 4+6. 4+6. 1+6. 4+114. 5

TlEKgE (FAYLARSA RC-40)  t=12cm
R 4
6. 4+6. 4+6. 1+6. 4+114. 5

8.6

8.6

8.6

139.8

139.8

139.8

140

140

140

m2

m2

m2

m2

m2

m2
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Hek gy T C O
3 T H A Bl AR 2V 1
BF (600) m 55
URI K % 600X 700 m 79
AT TH 6004%3E H] S 74
U L Gr 6004%3E H] S 9
IS T B (¢ 600) m 11
T JEPERRS T i T 3
LK T LK (8) & T 1
LK (9) EEI 1
K BHE RS i T 1
Astt 700X 700X 1000 | AT 1
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B H A B R ==X 1.055% 0
4 mo o | xR WooE
F R 2 BRI FEAEF] 700X 800 m 29.0
I FET A 700 X 800 m 7.0
(URRE S 700438 H He 25
TV —F U 700/ L=500 Tt 3
P27 U — b 18-8-25BB m3 2.78
K=o 27U — b 18-8-40BB m3 3.85
778 m2 7.20
&R RC-40 t=100 m2 42.12
HhiHEIE m2 42.1
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R 2 A o o® B B OE NS

B B AR TEUEH 700X800 8.00+21. 00 = 29.00 29.0 m
FEMTH 700 X 800 = 7.00 7.0 m

1A 7 = 7004535 = 25.0 25.0 &

TL—F I 700/ L=500 = 3.0 3.0 H

ka7 Y — b BT R E LY = 2.782 2.78 m3

(18-8-25BB)

=70 — b BIAREHEE LY =  3.852 3.85 m3

(18-8-40BB)

[ [T 0.10X2X36. 00 = 7.200 7.20 m2

O A BIARFHEE LY = 42.120 42.12 m2

(RC-40 t=100)

FEHHEIE FEREA I AEICFE T = 42.120 42.1 m2
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27

[ = 700 [mmss |
ZE48] (h1481) 18] (h24a1) L
. C
. B | FREECo BECO by
& (L) (m®) (m") t=10cm
hl Bl B2 h2 Bl B2 t=10cm
1 0.070 | 1.070 = 1.170 | 0.110 = 1.070 | 1.170 8. 00 0. 504 0. 856 9. 360
2 0.110 | 1.070 = 1.170 | 0.090  1.070 | 1.170 7.00 0. 490 0. 749 8. 190
3 0.090 | 1.070 = 1.170 | 0.140  1.070 | 1.170 16. 36 1.317 1. 751 19. 141
4 0.140 | 1.070 = 1.170 | 0.150 @ 1.070 | 1.170 4,64 0.471 0. 496 5. 429
5
6
7
8
9
10
11
12
13
E 2.782 3. 852 42.120
BBV Y—k a _ )
Egavyy—+h EL #A?A/#é
-] I8 EJ/
7 7 |
Py L




BF (600) B o= B OE
4, i hrfE W WAL % &
%N A i==N
(=R E § B
L No. 31 + 3.6 No. 34 m 55.2
& m 55.2
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BF (600) ¥ & i B 10. Om24 »

£ g 5 B = H =%
ROF TV 22— 10.0 10.0 m
(BF600)
EN Y S 0.58X%0.03%10.0 0.174 0.17 m3
(1:3)
I WE R 0.78%10.0 7.800 7.80 m2
(RC-40 t=100)
FLE 0.78x10.0 7.800 7.8 m2
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UBLK I (600 X 700) -
4, i hrfE W WAL % &
%N A i==N
(=R @ E B
R No. 32 + 5.6 No. 36 + 4.0 m 78.5
& F m 78.5
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UK % (600 X 700) ¥ = B EH & 10. 0m¥%4 »
£ g 5 B = H =%

7K iz U v i— MaESE L E L=2000  1110kg = 10.0 10,0 m

(600X 700 HEH)

EN Y S 0. 744 X 0. 02X 10. 0 = 0.149 0.15 m3

(1:3)

BlLaryzU—F 0.944 X 0. 10X 10. 0 = 0.944 0.94 m3

(18-8-40BB)

A TP 0.10X2X10.0 = 2.000 2.00 m2

I WE 0.944x%10.0 = 9.440 9.44 m2

(RC-40 t=150)

FEmE A 0.944x%10.0 = 9.440 9.4 m2
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25 72 (6004234 ) B o= B OE
% W (i s WA M B
N \ \ ==R
R No. 32 + 5.6 No. 36 + 4.0 Ve 74.0
& 7 ¥ 74.0
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U /L Gr (6004358 ) B o= B OE

oo
73 AT Hfr %
% LN (VAT 4 = WAL %

R No. 32 + 5.6 No. 36 + 4.0 e

o
1

7 e 9.0
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BT (¢ 600) B o= P OE
- WK wire | w =
pa R IVAED 4 = B &
No. 31 + 3.0 m 10.9
4 % m 10.9
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L1 (6 600) P ) 10. Om4 ¥
£ g 5 B = H =%
BfE 10.0 10.0 m
( ¢ 600)
[ EV - 0.45X%0. 02X 10.0 0. 090 0.09 m3
(1:3)
BlLaryzU—F 0.65X%0.10%10.0 0. 650 0.65 m3
(18-8-40BB)
[6] A 0.10X2X10.0 2. 000 2.00 m2
FEE A 0.65x10.0 6. 500 6.5 m2
RAED 0.73%X10.0 7.300 7.3 m3
(+m)
HE L 0.42X%10.0 4, 200 4.2 m3
(A 1)
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PR RS T B B R OE
W ol e o .
% % fm Wi % i
z =

L No. 24 + 4.8 =T 1.0

L No. 25 + 16. 2 =T 1.0

L No. 27 + 5.5 =T 1.0

& 3 faiT 3.0

36




- N2 = Yol i g
PGS T ¥ & FH B &= 10. OfEFT4 v
4 i) i B 7 iﬁz iy
a7 J—F 0.25X0.25%0.12X10.0 = 0.075 0.08 m3
(18-8-25BB)
il o 0.25X0.25X2x%10.0 = 1.250 .25 m2
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B o= B OE
H) J=
BN
H =
No. 31 + 3.0 P
& F T 1.0
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oK (8) N S R 1. OfE T4 1

£ g 5 B = H =%
a7 Y —Fh 1.10X 1. 10X 1. 10-0. 80X 0. 80 X 0. 95 0.723
(18-8-25BB) -(0. 60X 0. 80%0. 15+0. 50 X0. 15) -0. 147

H 0.576 0.58 m3
pirlp (1. 10+0. 80) X 1. 10X 4 8. 360
0.60X0. 15+0. 80X 0. 15X 2 0. 330
- (0. 60X 0. 80X 2+0. 50 X 2) -1. 960

H 6. 730 6.73 m2

I WE R 1.20X 1. 20 1. 440 1.44 m2

(RC-40 t=150)
FEm 1.20X 1. 20 1. 440 1.4 m2
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B o= B OE
H) J=y
HAT K
H =
No. 31 + 3.0 P
& F T 1.0
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oKt (9) N S R 1. OfE T4 1
4 i g B =Y 'y i

a7 Y —Fh 1.80X 1. 40X 1. 75-1. 40X 1. 00 X 1. 60 2.170
(18-8-40BB) —(7/4X0.58472X0.20+0. 50X 0. 20) -0. 154

H 2.016 2.02 m3
T (1. 80+1. 40+1. 40+1. 00) X2X1.75 19. 600

—(7/4X0.584°2X2+0. 50X 2) -1.536

H 18. 064 18.06 m2
JTVL—F o TE T-25 —#% 1400 X 1000H 1.0 1.0 #
A 4.0 4.0
(W=300)
I WE R 1.90X 1. 50 2. 850 2.85 m2
(RC-40 t=200)
FLmEE 1.90X 1. 50 2. 850 2.9 m2
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K PHERE

I

HAL

Yavavir=

11 I

il




g(

1. Of&FT4 »

LEIKHE B 5 =
4 i g B =Y 'y i

a7 J—F 0.70X0.70X0.15-0. 60X0.60X0. 15 0. 020
(18-8-25BB) 0.60X0.60Xx0. 15 0. 054

0.074 0.07 m3
F e 0. 60X0.60X2+0. 60X0. 15X 4 1. 080 1.08 m2
Colfdz L 0.70X0.70X0. 15 0.074 0.07 m3
(JEF)
CoBfliE M - L5y 0.074 0.07 m3
F o B TAREEWD 0.60X0. 15X4 0. 360 0.36 m2
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Astht

700 X 700 X 1000 o -
( ) R
4 W i R wrr |
N ) :
R No. 32 + 5.1 %Fﬁ
Sl T 1.0

44




Astht

1. Of&FT4 »

(700 X 700X 1000)
£ g 5 B = H =%

Asht 946kg/{# 1.0 1.0 1{#
(700 X 700 X 1000)
EiEa 27 J—k 0. 818X 0. 818%0. 05 0. 033 0.03 m3
(18-8-25BB)
M=o 7 ) — b 1.07X1.07X%0. 10 0.114 0.11 m3
(18-8-40BB)
[6] A 1.07X0.10X4 0. 428 0.43 m2
I WE 1.07X1.07 1. 145 .15 m2
(RC-40 t=100)
FEmE A 1.07X1.07 1. 145 .1 m2
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BB AR e
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Zu
X

T



S o R i T £ 3t
(S | % . v o .
(L~L3) (L~L4) (L~ULB) B % &= 14
K et 5 (1) m 8
HYesi A (2) m 22
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HI 555 (1) ¥ &

\‘I ‘I_l[_:—l;
4 B frE i

H

R | No. 31 + 18.2 No.

o
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HiseEE 5 (1) ¥ = FH B = 10. Om24 »

v PR &t A = bg 5
a7 U—h 0.40X0.20X10.0 0. 800 0.80 m3
(18-8-40BB)
iy e (0. 20+0. 40) X 10. 0 6. 000 6.00 m2
HOwE M 0.20X10.0 2. 000 2.00 m2
(RC-40 t=100)
JE IR 0.20X10.0 2. 000 2.0 m2
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HSEBE AR (2) & P F
4 I fr e i LT W &
4N VAL A B
H =
R | No. 30 + 14.7 No. 30 + 19.5 m 7.1
R | No. 31 + 4.8 No. 31 + 18.2 m 15. 1
& £ m 22.2
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AR (2) by = S = =X 10. 0m*4

v PR &t " = $ e
a7 U—h 0.20X0.20X10.0 0. 400 0.40 m3
(18-8-40BB)
oy e 0.20X1X10.0 2. 000 2.00 m2
HOwE M 0.20X10.0 2. 000 2.00 m2
(RC-40 t=100)
JE IR 0.20X10.0 2. 000 2.0 m2
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HEYRET
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s T £
? iI/J\“/l/}%:;”) (ﬁl EN/IELIJ) (%/I!il\“/jf) AL C fii
IR T a7 ) —h m3 85
Costidtilt - 4oy JHEf755 m3 85
2L R ) BT t=15cmPL m 102
Sl R t=5cm m2 95
Asis sty - Loy m3 5
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B 2 T B & B B OFE L0 Y
v PR 7t A 7 Ee &
=7 U — h

HERE (3)

NO. 24 ~ NO.30+2.7 (R) L= 124.0
V= {1/2X (0. 20+0. 26) X 0. 90} X 124. 0 25.67
LKkt (2)

NO.31.0 (R) N= 1
V=" (1.30X1.20X1.15-0.90X0.80X1.00) X1 1. 070
HP ¢ 150 (A=0.01m2)

NO. 22+15. 7 L=

NO. 24+4. 8 L= 6.4

NO. 25+16. 3 L= 6.4

NO. 27+5. 6 = 6.1

NO. 28+15. 5 L= 6.7

NO. 28+16. 0 (L) L=

NO. 30+8.0 (L) L=

SL= 25.6

V=10.01X25.6 0.26
HP ¢ 600 (A=0. 26m2)

NO. 30+3.0 (R) L=

NO. 30+11.0 ~ NO.30+19.5 (R) L= 14.6

NO. 30 ~ NO.31+4.6 (R) L= 6.0

SL= 20.6

V=0.26X%20.6 5.36
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B 88 T o o® B B OE I
v PR &t A =y be 5
W= ATBF600  (A=0. 27m2)
NO. 31+2.0 ~ NO. 33+16. 0 L= 59.5
V=0.27X59.5 16. 07
1R (600 X 600)  (A=0. 31m2)
NO. 30+13.5 ~ NO.31 (R) = 8.7
NO. 31+4.6 ~ NO.36+4.0 (R) L= 109.5
SL= 118.2
V=0.31X118.2 36. 64
7 85. 07 85 m3
CordE i « ALy 85. 07 85 m3
()
SHEERR BT WEITFEX LD
(t=15cmLL F) 12. 8+12. 8+12. 2+12. 8+5. 9+45. 1 101. 60 102 m
ARAERRA A WEITFEX LD
(t=5cm)
6. 4+6. 4+6. 1+6. 4+11. 2+58. 0
94. 50 95 m2
AsTBOER - ALy 94.5X%0. 05 4,73 4.7 m3
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i L

56



(G T S
i il b a1l b5zl S =
(L1 3) (L~L4) (L~UL5) =
E
Hfj T A8 10emAT N 40
E
I 10cmbPh_F16emATH N 32
E
I 16emPh_F22emATi N 26
E
I 22cemPh - 28cmATH N 20
E
I 28cmbL | ZN 35
E
£ 10cmA i A 40
E
I 10cmbPh_F16emATH N 32
E
I 16cmPh_F22emATi N 26
E
I 22cemPh - 28cmATH N 20
E
I 28cmLL |- ZN 35
HHA Bt - m3 29
A Bt - 23
SRS FTE - 5 t 23
A HRRE 17
NS TREE % 32
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#ofF T K & F " 10504
v PR 7t A =y i I
A8
(B3 - #) S H5) B v TS 1 0cmA it
40. 00 0.0 A
SV B A 10emPA _F16emA T
32. 00 32.0 K
SERI M E A 16emL_22cmAT i
26. 00 26.0 A
SV B AR 22emEA F28emA i
20. 00 20.0 A
SV B AR 28eml k.
35. 00 35.0 A
SE¥A) i v L 1 0emA i
40. 00 40.0 A
SN B E AL 10emPL | 16cmAR i
= 32. 00 32.0 A
4] SEY M EE AL 16cmbL_F22emATi
(BBE - ) = 26. 00 26. 0
SERI M B 22emlL_F28emAR T
= 20. 00 20. 0
SEXI R R E A28 eml _E
= 35. 00 35.0
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" i N & i B 1. 0= v
v PR &t " = $r £
FEIA
(B3 - #) 28.73 29  m3
ST M
(FZBE - ) 22.98 23t
SEARKLSY
(B3 - &) 22.98 23t
ST M
(HRER) 17. 39 17t
SEARALSY
(HREE) 31. 62 32 “Z2m3
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